100

1,4-

150

10
5.33 kPa 40 mmHg

25






1/2
[ ]
1/2
]
[ ] ]
1
0 V2 V2
1 L L
2 o
L 1 b
V2 2
L L L
V2 2 2
1 L L
V2 V2
10.0 cm
5.00 < 10
0.800

4.00 cm  mol L
20.0 cm  mol
40.0 cm  mol L
200 cm  mol
400 cm  mol

-

N

N

logT

110 kPa

0.05
0.06
0.07
0.08
0.09

17 100 kPa

27
500 cm

90



1.0 £ /min

g/cm

g/mol

1.8 pe
40
49

0.80

72 g/mol

25

4 ppm
6 ppm
8 ppm
10 ppm
12 ppm

1.0 £ /min

50 ppm
100 ppm
200 ppm
250 ppm
300 ppm

40
90
46.2 mg

60.1

450
500
550
600
650

1.0 me

1.44

0.80
0.85
0.90
0.95
1.00

10
30

40
20
20

100 mg

1.31 g/cm

50
30
30
10



